Nom :

Prénom :
Date :

Je sais diviser un nombre entier par 10, 100, 1000
3650 :10= 580 :10= 320 :10= 800 :10=
452000 :1000= 5800 :10= 5400 :100= 540120 :10=
5600 :100= 45010 :10= 69000 :100= 10000 :100=
690000 :1000= 500 :100= 52000 :1000= 56000 :1000=
5470 :10= 6000 :1000= 3500 :100= 870 :10=
Nom :
Prénom :
Date :

Je sais diviser un nombre entier par 10, 100, 1000
3650 :10= 580 :10= 320:10= 800 :10=
452000 :1000= 5800 :10= 5400 :100= 540120 :10=
5600 :100= 45010 :10= 69000 :100= 10000 :100=
690000 :1000= 500 :100= 52000 :1000= 56000 :1000=
5470 :10= 6000 :1000= 3500 :100= 870 :10=
Nom :
Prénom :
Date :

Je sais diviser un nombre entier par 10, 100, 1000
3650 :10= 580 :10= 320 :10= 800 :10=
452000 :1000= 5800 :10= 5400 :100= 540120 :10=
5600 :100= 45010 :10= 69000 :100= 10000 :100=
690000 :1000= 500 :100= 52000 :1000= 56000 :1000=
5470 :10= 6000 :1000= 3500 :100= 870 :10=




